sui(3w( g)ouapy — 3 (x)louawy)Sop = (A) f sui(3( g)oua ) — 3 (x)louawy)Sop = (A) f sui(“30( g)oua ) — 5 (x)louawy)Sop = (A) f

NOERROR for ‘.de’

Pv6

Dual-Stack

9

All Zones without DNSSEC returnin

IPv4

B~ B~ >
n v n v A v
> 0 5! ol 0 = - T A
S | S -
S o =3 X, o o 8 S m S o 1= ".x, o o 8 S m 8 o 1= X, o o 8 S m
2 8 2 8 2 =) - oo e 2 8 2 B 2 = - T e e 8 2 3 2 o - R O -
=) a =) a =) a =) a =)
o] o] D D o] o] D D D
£ £ &£ £ =& & &£ = =
S5 S5 S5 S5 5% S5 S5 5 S
(e} oo (e} oo oo oo [alke} oo oo
SRS BAs BRs BAs Bas s oA e B
(=] (=} (=] (=} (=] (=} (=] (=] (=]
R IR IR W X IR N £} =W
~—— ~—— —— ~—— —— ~—— —— ~—— ——
SBIE SIDE S[DE O[DE OVDE OBIE  OBDE OBIE ODIE
DANT LNAT DANF ONUT LANT OANT LNAT DANF LNANT
L1 1.1 L1 1.1 L1 1.1 L1 11 L1 1.1 L1 1.1 L1 1.1 L1 11 L1 1.1
g I Path 1280 (no PMTUD) 8 I Path 1280 (no PMTUD) 8 - Path 1280 (no PMTUD)
g L 1280 M:o_u TUD) g L 1280 M:o_u TUD) g L 1280 M:o_u TUD)
3 B ﬁm% PMTUD) 3 B “mwm PMTUD) 3 B ﬂmmm PMTUD)
[ I~ (=] I~ (=] I~
| T Xx W
o L Path 1280 (no PMTUD) 8 o L Path 1280 (no PMTUD) 8 o L Path 1280 (no PMTUD)
g L 1280 MS PMTUD) ) ﬁ L 1280 Mzo PMTUD) oY L 1280 MS PMTUD)
3 B mww PMTUD) S 3 B “mww PMTUD) S 5| B “mwm PMTUD)
=\ - Qo - oo -
N L Path 1280 (no PMTUD) o L Path 1280 (no PMTUD) N L Path 1280 (no PMTUD)
o L 1280 M:o_u TUD) & L 1280 M:o_u TUD) o L 1280 M:o_u TUD)
g L 1280 (PMTUD) . g L 1280 (PMTUD) g L 1280 (PMTUD)
g L 1500 9 3 L 1500 & L 1500
o L Path 1280 (no PMTUD) 5 g L Path 1280 (no PMTUD) g
g L 1280 M:o_u TUD) L g L 1280 M:o_u TUD) g
3 B mww PMTUD) m 3 B ﬂmwm PMTUD) 3
(=) I~ [a] I~ [a]
w R L w
8 - Path 1280 (no PMTUD) o s I Path 1280 (no PMTUD) © 3 - Path 1280 (no PMTUD)
g L 1280 Mao PMTUD) ws L 1280 M:o PMTUD) 05 & L 1280 MS PMTUD)
3 B #m% PMTUD) Q%3 B “m% PMTUD) o= 3 B ﬂmmm PMTUD)
o = a = - a =
wy g w £ w
o L Path 1280 (no PMTUD) £ o L Path 1280 (no PMTUD) 2 L Path 1280 (no PMTUD)
B L 1280 MS_U TUD) £ & L 1280 M:o_u TUD) e & L 1280 M:o_u TUD)
2 L 1280 (PMTUD) 5 g L 1280 (PMTUD) o g L 1280 (PMTUD)
3 - 1500 5 2 - 1500 Wnn 3 - 1500
g I Path 1280 (no PMTUD) O ¢ I Path 1280 (no PMTUD) n_._w 8 I Path 1280 (no PMTUD)
g L 1280 Maov TUD) W og L 1280 M:o_u TUD) = ¢ L 1280 M:o_u TUD)
3 B mmw PMTUD) 2 9 B ﬁmwm PMTUD) > 9 B u_mmm PMTUD)
g B Z B B £ B B
o L Path 1280 (no PMTUD) W4 o L Path 1280 (no PMTUD) .o L Path 1280 (no PMTUD)
g L 1280 MS PMTUD) s2 ﬁ L 1280 MS PMTUD) EER L 1280 MS PMTUD)
3 B m% PMTUD) %5 B ﬂmwm PMTUD) 0% 4 B “mwm PMTUD)
& B o 8 B o g B
o L Path 1280 (no PMTUD) g o L Path 1280 (no PMTUD) g o L Path 1280 (no PMTUD)
a L 1280 M:o_u TUD) S & L 1280 M:o_u TUD) S =& L 1280 M:o_u TUD)
3 L 1280 (PMTUD) N g L 1280 (PMTUD) N g L 1280 (PMTUD)
g L 1500 = m_ L 1500 — m_ L 1500

¢15:0SNa3

T T
2621:0SNA3 9607:0SNA3
PAdI

c1g:0sNa3a

T T
262 H0SNA3 9607:0SNA3
9AdI

T T T
C1G'0SNa3 2€2H0SNa3 960%:0SNA3

OelS-leng

¢15:0SNa3

T T
2€2H0SNA3 9607:0SNA3
PAdI

21g:0SNa3a

T T
2£2H0SNA3 9607:0SNA3
9dI

T T T
C1S'0SNQ3 2e2H:0SNa3 960%:0SNA3

oelS-lendg

c1g:0SNa3

T T
2€2H0SNA3 9607:0SNA3
PAdI

T T T
ZIG:0SNA3 2€2H0SNA3 9607:0SNA3
IdI

T T T
C1G'0SNa3 2egh:0SNa3 960%:0SNA3

oElS-lend



